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6.1 Construction of a probability space

Sample space : set of all possible outcomes of an experiment.
Event: subset A of the sample space.
Probability: a number P(A) that measures the probability or degree of belief that
event A will occur when the experiment is executed, such that:
e 0 < P(A) <1 for any event A
o P(Q)=1
e P(AUB) = P(A) + P(B) for mutually exclusive events A and B

A random variable X is defined by a set of possible values (or states), and probabilities
associated with elements or subsets of that set.



6.2 Discrete and continuous probabilities

Discrete random variables

A discrete random variable X has probability mass function p(x) = P(X

Bivariate mass function visualised as a probability table:

e joint probability: p(x,y) =P(X =xand Y =y)

x).

Ci

an element in the probability table hn
. . Y i Mij
e marginal probability: p(x) y
3
column sum, or row sum for p(y) T T Ts i Ts
X

e conditional probability: p(x|y)

fraction of an element within its row, or within its column for p(y|x)



Continuous random variables

A continuous random variable X is defined on the real line R, with a probability
density function f(x), such that f(x) > 0 for all x € R, and

e}

P(agXSb):/bf(X)dx, and / f(x)dx=1.

—00

X

The cumulative distribution function of X: F(x) = P(X < x) = / f(z)dz

—0o0
a
Note that P(X = a) = / f(x)dx =0.
a
The probability that a continuous random variable will assume any fixed value is zero.

But Pla—fe< X <a+ %e) ~ ef(a), so f(a) gives an indication of how relatively
likely it is that X is near a.
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6.3 Sum rule, product rule, and Bayes’ theorem

Zy p(x,y) if y is discrete
Sum rule: p(x) =

/p(x,y) dy if y is continuous
y

Product rule: p(x,y) = p(x)p(y|x) = p(y)p(x|y)

ply[x)p(x)

p(y)
p(x) is called the prior, p(y|x) is the likelihood, p(x|y) is the posterior, and
p(y) is the evidence usually computed as >~ p(y|x)p(x) or | p(y|x)p(x) dx

Bayes' theorem: p(x|y) =

A random variable can be multivariate; then we would write x and y in the above.



Exercise 6.4, p. 222

Bag A has 4 mangos and 2 apples. Bag B has 4 mangos and 4 apples.

If a biased coin (probability of heads 0.6) lands on heads, we pick a fruit from bag A.
If it lands on tails, we pick a fruit from bag B.

Your friend flips the coin (you can't see), and picks a fruit. It is a mango.
What is the probability that it comes from bag B?

Let h be the event that the coin lands on heads (bag A), and t for tails (bag B).

Let m be the event that the chosen fruit is a mango.

4
We are given: p(h) = 0.6, p(t) =0.4, p(m|h) = 6 p(m|t) =

Then p(t|m) = p(m[t)p(t) _  p(mlt)p(t) p(m|t)p(t) N

1
p(m) p(m,t) +p(m,h) — p(m[t)p(t) + p(mlh)p(h) ~ 3"



6.4 Summary statistics and independence

The expected value of a function g of a random variable X ~ p(x):
Ble()] = 3 g(p(x) o Elg(] = [ g(x)p(x) ox

The mean (or average) of X is E[x].

A one-dimensional random variable also has a median and one or more modes.
Note the expected value is linear: E[ag(x) + bh(x)] = aE[g(x)] + bE[h(x)]
The variance of X with mean u: V[x] = E[(x — p)?] = E[x?] — (E[x])?

The covariance between two univariate random variables X and Y:

Cov[x,y] = Ex,y [ (x — Ex[x]) (y — Ey[y]) ]



The covariance matrix of a multivariate random variable X with mean p:

Covix, x] = V[x] = E[(x — u)(x — )] = Elxx"] - E[x]E[x]"

COV[Xl,Xl] COV[Xl,XQ] s COV[Xl,XD]
o COV[Xz,X]_] COV[Xz,X2] s COV[X2,XD]
Covixp,xi] Cov[xp,x] --- CovV[xp,xp]

The covariance matrix is symmetric and positive semidefinite (usually positive definite),
and gives an indication of the spread of the data.

Covlx, y]

The correlation between X and Y: corr[x,y] = Vix]V]y]
X|V1y

€[-1,1]

Positive correlation corr[x, y| means that when x grows, y is expected to grow.
Negative correlation means that as x increases, y decreases.



The empirical mean and covariance of N observations of X:

1 & 1 &
- _ _ < T
X = Nng 1x,7 and X = N,,E_l(xn —X)(xp, — X)

Statistical independence

Two random variables X and Y are independent if and only if p(x,y) = p(x)p(y).
If X and Y are independent, then p(x|y) = p(x).

Two random variables X and Y are conditionally independent given Z, if and only if

p(x,y|z) = p(x|2)ply|2).

If X and Y are conditionally independent given Z, then p(x |y, z) = p(x]| z).
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6.5 Gaussian distribution

2
The univariate Gaussian (or normal) distribution: p(x |, 0?) = 2262 exp (—(Xz;’ﬁ) )

The multivariate Gaussian (or normal) distribution, with x € RP:
DL .
p(x |1, E) = (2m) 3 |E[“2exp(~3(x — 1) TEH(x — )
We often write p(x) = N (x| p, X) or X ~ N(p, X).

Widely used as it has closed-form expressions for marginal and conditional distributions.
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Let's write the Gaussian distribution in terms of a concatenation of states x and y:
1 23% zXX sz:|>
X7 = N )
pix.¥) ([“y} [Zyx Ly
Marginal: p(x) = /p(x,y) dy = N(pt, Txx)

Conditional: p(x|y) = N (pyy, Xx)y) where p,, = p, + ny}:;yl(y - )

zx\y =2, — zxyz;ylzyx

The product of two Gaussians N'(x|a,A) and N'(x| b, B) is cN(x|c, C), where
C=(A'+B )" c=C(Ata+B'b),
c=(r) 3 A+ By*%exp(—%(a —b)T(A+ B)}(a— b))
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Sums and linear transformations

If X and Y are independent Gaussian variables, then p(x+y) = N (p,+p,, Tx+X)).

If X ~ N(p,X), and Y has states y = Ax + b, then p(y) = N(y | A + b, AZAT).

Sampling from multivariate Gaussian distributions

Suppose we want to generate samples from A (p, X).
1. source uniformly random samples in [0,1];
2. apply Box-Miiller transform to obtain samples from a univariate Gaussian;
3. collate a vector of these samples to obtain a sample from N(0, ).

Now, if x ~ N(0,1), then y = Ax + p where AAT = X, is Gaussian distributed with
mean p and covariance X. Can use Cholesky decomposition to find A from 2.
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6.6 Conjugacy and the exponential family

Bernoulli distribution with parameter i € [0,1]: p(x|p) = (1 — )=, x € {0,1}

The binomial distribution describes the probability of observing m occurences of X =1
in N samples from a Bernoulli distribution where p(X = 1) = . Hence

p(m| N, p) = (Z) pm(1 = p)N-m

The beta distribution over a continuous random variable p € [0,1] (e.g. the parameter
of a Bernoulli distribution) has two parameters « > 0 and 5 > 0:

_Ta+h) 14
~ H(re) "

Intuitively, & moves the probability mass towards 0, and 5 moves it towards 1.

(1—p)t=?  where I'(-) is the Gamma function

p(p| e B)
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Conjugacy
According to Bayes, the posterior is proportional to the prior times the likelihood.

A prior is conjugate for the likelihood if the posterior is of the same type as the prior.
Convenient, as we can calculate the posterior by updating the parameters of the prior.

Example: Let X be a binomial random variable with parameters N and p (number of heads in
N flips of a biased coin with p the probability of heads in one flip). We place a beta prior on p,
with parameters « and (3, and then observe some outcome x = h (we see h heads in N flips).

Posterior on i p(uu|x = h) oc p(x | N, ) p(u| e, B) oc o= H(1 — p)(N=+0=1

...which is a beta distribution with parameters h4+ « and N — h+ 5.

The beta prior is conjugate for the parameter p in the binomial likelihood function.
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Exponential family

The Gaussian distribution is a member of the exponential family.

This family of distributions, parameterised by 8 € RP, has the form
p(x10) = h(x) exp (67 b(x) — A6))

h(x) can be absorbed into the exponent by adding log h(x) to ¢(x), and exp(—A(8))
is the normalisation constant, so that

p(x|0) o exp(87¢(x))

For the univariate Gaussian A(u,0?), we'd have ¢(x) = [x,x?]" and 6 = [£5, —55,]T.

o2

The Bernoulli distribution with parameter p is also a member of this family, where
h(x) =1, ¢(x) =x, 6 =log ﬁ and A(0) = log(1 + exp(#)).
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6.7 Change of variables

Let X be a continuous random variable with pdf f(x). What is the pdf of Y = U(X)?

Distribution function technique

Fy(y) = P(Y <y) = P(UX) <y) = P(X < U} (y)) = Fx(U(y))

To obtain the pdf of Y, we differentiate its cdf: f(y) = diFy(y) = diFX(U_l(y))
y Y

Probability integral transform

If X has a strictly monotonic cdf Fx, then Y = Fx(X) has a uniform distribution.

We can use this result to sample from the distribution of X, by transforming uniformly
random samples in [0, 1] with the inverse cdf (Fx)*.
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